FOOTWEAR DESIGN AND PRODUCTION
FedeRr TeiTea vug Wew

(716)
Time : 3 Hours | [ Maximum Marks : 100
o 3 U | [ 9ofeR : 100
Note :  All questions are compulsory.
fdw . asft g st 2
1. Fill in the blanks : 1x10=10

o w1 1 g BRI
(a) There are two basic types of shoes; sandal and ——.
T T A TR e E few o —— |
(b) Hide can be divided into different parts for

—— & fau @@ # fafe ww # |t 9 2

is to aid insertion of foot into the shoe.

—— S ¥ W e § 9ag @l g

()

(d) Joint measurement is around the and the outside joints.

—— 3R arell wfFY % SR AR % 99w @Y AT FEd §

(e) The toe of the last forms the shape of the —— where the maximum
activities take place.

TRE 1 A SR oHdT & —— &l frepan fpamd ardt €|

(f) French binding involves —— steps.
Hd aEfeT ¥ @ 8 —— =R

(g9 The of upper and lining is the first step in shoemaking.
S fmier # uEen =X TR IR ARt w —— R

(h) In folding skive —— of the thickness of leather is skived.

BifceT Thigd H —— HIZE =97 o B3 ol Sl 2l
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‘Gross Area (G)’ calculation formula for a full grain side is G = —.

Ul HER AT % Tkl &% (G) B M R IR G = —— |

There are —— bone in feet.

W o —— gfear adt 2

2. State whether the following statements are True or False :

ffafad o @ @@ 3R Tod SqEy

1x10=10

(a) There are three basic variations in toe shapes.
21 AR i A4 g fafaeand 21

(b) A counter is placed on the side of a shoe.
SId o TSl T IS WS BT B

(c) The skeleton of foot is divided into 4 parts.
T 1 ekt 4 9T H faanfora 21

(d) The Brannock is based on heel to ball measurement.
ST B § St JTueh T ST 2 |

(e) Heel, waist, ball and toe are four sections of last.
2, 9%, did 31 2 |2 % 91 @S 2|

(f) Leather is permeable and plastic.
THET THfee SR e |

(g9 Boxing is used to strengthen Oxford shoe.
ATrTRIS 3] T Tt o for Sifed e e g

(h) In slip last construction the last is inserted after the upper attached to the
insole.
feeta amee fmior 3T =l 3 ° SIS o 918 AR g4TE Sl 21

(i)  Clicking is assembling the components of upper by stitching.
faafer 3T % Wt o6t Fers g e g 21

G) Bottoming is attachment of the lasted footwear to the sole.
T e R Fedler =it |ia ¥ Sfieq1 g 2|
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3. Answer the following questions : 2x20=40

ffafga y=i & I difT -

(a) Write upper part names of Derby shoe.
ST S[d % JW WFN % AW ford |

(b) What do you mean by ‘Mean Form™
WH ®H " AT FT GEed o

(c) What is the use of Hydraulic Cutting Machine?
BIggITcTeh HioT WY 1 =N 7 77

(d) How is Jodhpur shoe different from Boot?
‘Sage v 92 ¥ w9 fa 27

(e) Which type of material is used for last’ making?
‘T’ T % e foRe wmmft @ oy g 27

(f/ What is the difference between toe point and seat point?
T ufge IR Hie ulge H AR Fanu|

(g9 Which is the largest bone?

HH-Hl T2 H9W FS! Bl 87

(h) Write the parts and positions of men’s Oxford.

e ATFERE & 9 9 feafaat saru)

()  What is shank and why is it used?
7k 1 BT B 3R TER HT ITET 27

() How an insole is developed from foot impression?

W & F9H 9 G FH I ?

(k) What type of machines are used for stitching components?
FraeE foeg & fou ®F-am @ aefe = § A S g0
()  What is closed seam?

Fellse € F1 Bl 27
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(m) What is edge treatment?
o 1 w77
(n) Explain underlapped skive.
JTeiqe foas & I’ # Fasy
(o) Write the needle parts.
g o 9N FarRu|
(p) How will you mark size 8 with notch?
At g/ wEs 8w fuee S aman?
(@9 Write down the step of finishing and packing.
foRfafim ofR Afem & =R Famsu
(r) What is the second waste?
fadftar =afdt @ &t 27
(s) What will be the % wastage on ‘B’ grade leather?
‘B’ avft o wme # FRAt % F@tdr grfi?
()  What type of system is used for pattern scale area calculation?

2 That T i oET % fen fea Tt e v g 'Y

4. Answer the following questions : 10x4=40
ffafad st & 3w A
(¢) What type of materials are used in making shoe? Explain.
ST s % fore fr-fo amfiEt s wE @ 27 smen fifs)
(b)  Write basic type of footwear used in industries. Explain.
FeeflTR & STURYd YFR % IR § e A S S[d 3T 8 JEe g g
(c) What is skiving? Explain type of skive with drawing.
e =0 Bl g? foas % 9§ fom afa =men i)
(d) Explain pattern scale by 180° method.
180° faftr g1 Yo what il =W HIfT |
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